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POPRE^NI PROFILI NA SOOBRA]AJNICI
SERVISNI ULICI:
-Servisna ulica "1":

presek "1-1"

STANBENI ULICI:
-Stanbena ulica "2":

presek "2-2"

-Stanbena ulica "3", "4", "5", "6", "7", "8", "9" i "10":

presek "1-1"

PRISTAPNI ULICI:
-Pristapna ulica "11", "12", "13", "14", "15", "16" i "17":

presek "3-3"

PE[A^KI PATEKI:
-Pe{a~ka pateka  "18":

presek "4-4"
-Pe{a~ka pateka  "19":

presek "5-5"

-Pe{a~ka pateka  "20":
presek "6-6"

-Pe{a~ka pateka  "21":
presek "7-7"

-Pe{a~ka pateka  "22":
presek "8-8"

REGULIRANI VODOTECI:
-Reguliran vodotek "Stara Reka":

presek "9-9" presek "10-10"

-Reguliran vodotek "1" i "2":

A1...

209.80


